جامعة محمر خبضر بسلرة
فسّم علوم المادة معنباس : رباضبا-

## سلسلة الأُ عمال الموجهذ ر فم 2 (المعادلا - الخطبة) <br> +


Solve the following linear system using the Gauss method:

$$
\left\{\begin{array}{rl}
x+y+2 z & =3 \\
x+2 y+z & =1, \\
2 x+y+z & =0
\end{array}, \quad\left\{\begin{array}{rl}
x & +2 z
\end{array} \quad 101 .\right.\right.
$$

تمرين - 2 Exercise
 المعاملا二 و باسنَغرام مبغةَ كرامر):
Find the solutions to the following system in four different ways (by substitution, by the pivot-Gauss's method, by matrix inversion coefficient and by using Cramer's method):

$$
\left\{\begin{array}{l}
2 x+y=1 \\
3 x+7 y=-2
\end{array}\right.
$$

 Choose the method that seems to be the fastest to solve, according to the values of $a$, to find solutions to the following system:

$$
\left\{\begin{array} { r l } 
{ a x + y } & { = 2 } \\
{ ( a ^ { 2 } + 1 ) x + 2 a y } & { = 1 }
\end{array} \quad \left\{\begin{array}{l}
(a+1) x+(a-1) y=1 \\
(a-1) x+(a+1) y=1
\end{array}\right.\right.
$$

تمرين - Exercise 3 : أوبر حلول الجملةُ النالبه́ :
Find solutions to the following system:

$$
(S)=\left\{\begin{array}{rlrl}
3 x & +2 z & =0 \\
3 y+z+3 t & =0 \\
x+y+z+t & =0 \\
2 x-y+z-t & =0
\end{array}\right.
$$

Solve the following system: تمر يز - 4 Exercise

$$
\begin{aligned}
& \left\{\begin{aligned}
3 x-y+2 z & =a \\
-x+2 y-3 z & =b \\
x+2 y+z & =c
\end{aligned}\right. \\
& \text { تمر ين - Exercise } 5 \text { : خل الجمل النالبهُ باسنُعْمال طربفُهُ كرامر: }
\end{aligned}
$$

Solve the following systems using Cramer's method:

$$
\text { 1) }\left\{\begin{array} { l } 
{ x + y + 2 z = 3 } \\
{ x + 2 y + z = 1 } \\
{ 2 x + y + z = 0 }
\end{array} \quad \text { 2) } \left\{\begin{array}{r}
x+2 z=1 \\
-y+z=2 \\
x-2 y=1
\end{array}\right.\right.
$$

تمر ين - 6 Exercise
 is the geometric explanation for the result that you get?

$$
\left\{\begin{aligned}
x+m y & =-3 \\
m x+4 y & =6
\end{aligned}\right.
$$

تمر ين - 7 Exercise 7 : نافشَ وفِّا لفُبْهُ الوسبط $a \in \mathbb{R}$ حلول الجملةُ:
Discuss according to the value of the intermediate $a \in \mathbb{R}$ solutions to the system:

$$
\left\{\begin{array}{r}
3 x+y-z=1 \\
x-2 y+2 z=a \\
x+y-z=1
\end{array}\right.
$$

